

نفسه!

$$1 + \tan^2 \theta = \frac{1}{\cos^2 \theta} \Rightarrow \frac{1}{\cos^2 \theta} = 1 + \tan^2 \theta \Rightarrow 1 \cos^2 \theta = 1 \Rightarrow \cos^2 \theta = \frac{1}{2}$$

$$\cos \theta = \frac{1}{\sqrt{2}} \Rightarrow \theta = \frac{\pi}{4} \text{ or } \frac{3\pi}{4} \rightarrow \text{پایه}$$

-1

$$\sin^2 \eta = 1 - \cos^2 \eta$$

$$a(1 - \cos^2 \eta) + p \cos(\eta) = -p \Rightarrow a - a \cos^2 \eta + p \cos \eta = -p$$

$$-a \cos^2 \eta + p \cos \eta = -p \Rightarrow -1 \cdot \cos^2 \eta + a + 14 \cos^2 \eta - 14 \cos \eta = -9$$

$$\begin{aligned} & \Rightarrow \underbrace{-1 \cdot \cos^2 \eta - 14 \cos \eta + 15}_{(14 \cos^2 \eta - 1)} = -9 \quad \Rightarrow \underbrace{(14 \cos^2 \eta - 14 \cos \eta)}_{(14 \cos^2 \eta - 14 \cos \eta + 15)} \\ & \Rightarrow \underbrace{-1 \cdot \cos^2 \eta - 14 \cos \eta + 15}_{(14 \cos^2 \eta - 14 \cos \eta + 15)} = -9 \quad \Rightarrow \underbrace{(14 \cos^2 \eta - 14 \cos \eta)}_{(14 \cos^2 \eta - 14 \cos \eta + 15)} \\ & \Rightarrow \underbrace{-1 \cdot \cos^2 \eta - 14 \cos \eta + 15}_{(14 \cos^2 \eta - 14 \cos \eta + 15)} = -9 \quad \Rightarrow \underbrace{(14 \cos^2 \eta - 14 \cos \eta)}_{(14 \cos^2 \eta - 14 \cos \eta + 15)} \end{aligned}$$

$$\Rightarrow \cos \eta = -1 \quad \eta = \pm \pi$$

→ 1. p

$$12 \cos \eta + 12$$

$$12 \cos \eta + 12$$

$$P \sin(\theta) \cos(P\theta) + \sin\theta = 1$$

$$\sin\theta (P \cos P\theta + 1) = 1$$

$$\downarrow$$

$$\cos^P \theta - \sin^P \theta$$

$$\Rightarrow \sin\theta (P \cos^P \theta - P \sin^P \theta + 1) = 1 \Rightarrow (P - P \sin^P \theta) \sin\theta = 1$$

$$\downarrow$$

$$P - P \sin^P \theta$$

$$P \sin\theta - P \sin^P \theta - 1 = 0$$

$$\sin\theta = -1$$

$$\downarrow$$

$$\sin\theta = -1$$

$$\Rightarrow (\sin\theta + 1)^P - (P \sin\theta - 1)^P = 0$$

$$\sin\theta = -1 \rightarrow P \cos^P \theta + P \sin^P \theta$$

$$P \sin\theta - 1 = 0 \Rightarrow \sin\theta = \frac{1}{P} \rightarrow \left\{ \frac{P\pi}{2} + \frac{\pi}{P}, \frac{P\pi}{2} + \frac{2\pi}{P} \right\}$$

$$\begin{array}{l} -P \sin^P \theta + P \sin\theta - 1 \\ -P \sin^P \theta - P \sin^P \theta \end{array} \left| \begin{array}{l} \sin\theta + 1 \\ P \sin^P \theta + P \sin\theta \end{array} \right.$$

$$\downarrow$$

$$\begin{array}{l} P \sin^P \theta + P \sin\theta \\ P \sin^P \theta + P \sin\theta \end{array} \left| \begin{array}{l} \sin\theta + 1 \\ P \sin^P \theta + P \sin\theta \end{array} \right.$$

$$- \sin\theta - 1$$

$$- \sin\theta - 1$$

0

$$\begin{aligned} \sin\left(\frac{x}{p} + p\theta\right) &= \cos p\theta \\ \cos\left(\frac{x}{p} + p\theta\right) &= -\sin p\theta \end{aligned} \Rightarrow \frac{1}{\cos p\theta} + \frac{1}{-\sin p\theta} = 0 \Rightarrow \frac{1}{\cos p\theta} = \frac{1}{\sin p\theta}$$

$$\begin{aligned} \cos p\theta &= \sin p\theta \Rightarrow \cos p\theta = p \sin p\theta \cos p\theta \Rightarrow \frac{1}{p} = \sin p\theta \\ \Rightarrow \theta &= \frac{\sqrt{x}}{p}, \frac{\sqrt{x}}{p} \Rightarrow \frac{\sqrt{x}}{p} = \frac{x}{p} \Rightarrow \tan \frac{\sqrt{x}}{p} = -\sqrt{p} \end{aligned}$$

$$p\theta = p \frac{\sqrt{x}}{p}, \quad p\theta = p \frac{\sqrt{x}}{p}$$

-2

$$\cos\left(\theta + \frac{\pi}{4}\right) = \cos\theta \cos\frac{\pi}{4} - \sin\theta \sin\frac{\pi}{4} = \frac{\sqrt{2}}{2}(\cos\theta - \sin\theta) = \frac{1}{\sqrt{2}}$$

$$\Rightarrow \cos\theta - \sin\theta = \frac{1}{\sqrt{2}} \cdot \frac{\sqrt{2}}{1} = 1 \Rightarrow \frac{1}{\sqrt{2}}m - \frac{1}{\sqrt{2}}\sqrt{4} \sin\theta = 1 \Rightarrow m - \sqrt{4} \sin\theta = 1$$

$$\Rightarrow m - \sqrt{4} \sin\theta \cos\theta = 1 \Rightarrow m = 1 + 1 \sin\theta \cos\theta \quad \left(\cos\theta - \sin\theta = \frac{1}{\sqrt{2}} \right)$$

$$m - 1 = \sin\theta \cos\theta \Rightarrow \sin\theta \cos\theta = \frac{1}{2}$$

$$\Rightarrow m = 1 + 1 \cdot \frac{1}{2} = \frac{3}{2}$$

-4

$$\sin\left(\theta + \frac{\pi}{4}\right) \cos\left(\theta - \frac{\pi}{4}\right) = 1$$

$$\sin\left(\theta + \frac{\pi}{4}\right) = 1, \cos\left(\theta - \frac{\pi}{4}\right) = 1$$

$$\sin\left(\theta + \frac{\pi}{4}\right) = -1, \cos\left(\theta - \frac{\pi}{4}\right) = -1$$

$$\theta + \frac{\pi}{4} = 2k\pi + \frac{\pi}{2} \Rightarrow \theta = 2k\pi + \frac{\pi}{4}$$

$$\theta + \frac{\pi}{4} = 2k\pi - \frac{\pi}{2} \Rightarrow \theta = 2k\pi - \frac{3\pi}{4}$$

$$\theta - \frac{\pi}{4} = 2k\pi \Rightarrow \theta = 2k\pi + \frac{\pi}{4}$$

$$\theta - \frac{\pi}{4} = 2k\pi + \pi \Rightarrow \theta = 2k\pi + \frac{5\pi}{4}$$

$$\Rightarrow k = \frac{1}{2} \Rightarrow \frac{\pi}{2}$$

$$\sqrt{r} = c \cdot \sin \theta \sqrt{r} + \sin \theta \quad \frac{\sqrt{r}}{r} = \frac{c \cdot \sin \theta \sqrt{r}}{r} + \frac{\sin \theta}{r} \Rightarrow \theta + \frac{\pi}{2} = \frac{\pi k \pi}{2} + \frac{\pi}{2}$$

$$\frac{\sqrt{r}}{r} = \frac{c \cdot \sin \theta \sqrt{r}}{r} + \frac{\sin \theta}{r} \Rightarrow \theta + \frac{\pi}{2} = \frac{\pi k \pi}{2} + \frac{\pi}{2}$$

$$\theta = \frac{\pi k \pi}{2} + \frac{\pi}{2} - \frac{\pi}{2} = \frac{\pi k \pi}{2} \Rightarrow k=0 \rightarrow -\frac{\pi}{2}, \frac{\pi}{2} \quad k=1 \rightarrow \frac{\pi}{2}, \frac{3\pi}{2}$$

$$\theta = \frac{\pi k \pi}{2} + \frac{\pi}{2} - \frac{\pi}{2} = \frac{\pi k \pi}{2} \Rightarrow k=0 \rightarrow -\frac{\pi}{2}, \frac{\pi}{2} \quad k=1 \rightarrow \frac{\pi}{2}, \frac{3\pi}{2}$$

$$\sin\left(\frac{p\pi}{p} - \eta\right) = \cos \eta \Rightarrow -p \sin \eta \cos \eta = 1$$

$$p \sin \eta \cos \eta = \sin p\eta$$

1

$$\Rightarrow -p(p \sin \eta \cos \eta) = 1 \Rightarrow \sin p\eta = -\frac{1}{p}$$

$$\left. \begin{aligned} p\eta &= \frac{p\pi}{4} - \frac{\pi}{4} \\ p\eta &= \frac{p\pi}{4} - \frac{3\pi}{4} \end{aligned} \right\} \begin{aligned} \eta &= \frac{\pi}{4} - \frac{\pi}{p} \\ \eta &= \frac{\pi}{4} - \frac{3\pi}{p} \end{aligned}$$

$$k=1 \rightarrow \frac{11\pi}{12}, \frac{5\pi}{12}$$

$$k=2 \rightarrow \frac{13\pi}{12}, \frac{7\pi}{12}$$

$$\Rightarrow \frac{11\pi + 5\pi + 13\pi + 7\pi}{12} = \frac{40\pi}{12} = \frac{10\pi}{3} = 2\pi$$

9

$$1 + \cos p\alpha = 1 + \cos^p \alpha - \sin^p \alpha = p \cos^p \alpha$$

$$1 + \cos^p \alpha = 1 + \cos^p \alpha - \sin^p \alpha = p \cos^p \alpha = p(1 - \sin^p \alpha)$$

$$1 + \cos^p \alpha = 1 + \cos^p \alpha - \sin^p \alpha = p \cos^p \alpha = p \left(\cos^p \alpha - \sin^p \alpha \right) = p - 2 \cos^p \alpha \sin^p \alpha$$

$$\Rightarrow (1 + \cos^p \alpha) (p \cos^p \alpha) (p - 2 \cos^p \alpha \sin^p \alpha) = \frac{1}{1}$$

$$p \cos^p \alpha = 1 + \cos^p \alpha$$

$$1 + \cos^p \alpha$$

$$1 - p \cos^p \alpha \sin^p \alpha$$

$$\begin{aligned} p \cos^p \alpha \sin^p \alpha &= \sin^p \alpha \\ \Rightarrow p \cos^p \alpha \sin^p \alpha &= \sin^p \alpha \end{aligned}$$

$$\Rightarrow (1 + \cos^p \alpha)^p (1 + \cos^p \alpha)$$

$$p \cos^p \alpha$$

$$1 + \cos^p \alpha = \cos^p \alpha$$

[illegible]